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Answer any five questions from the following:
erlefae Q- S5 2ived Ted wiss

What 1s money illusion?

(b) What is meant by search unemployment?
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(¢) What is inflation tax and who bears the burden of it?
NurRfe $4° FI0F AF 9 Tl 92 FTO I29 FCI 2

(d) Suppose inflation rate is 2% and nominal rate of interest is 6%. If inflation rises
10 10%. how the nominal rate of interest has to be changed to keep real interest
rate unchanged”
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(¢) What is Pigou effect?
e ol 0o & (@il ¢
(f) What 1s meant by neutrality of money?
Juld AR <A FIF A 7
State and explain Say’s Law of market.
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(hy Under what circumstances disinflation can be painless”
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2. Answer any four questions from the following; Sx4=20
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() What is meant by Classical Dichotomy?
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What are the Keynesian reasons for downward rigidity of money wage at the
subsistence level?
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What 15 stag (lation”? Use AD-AS model to explain stagtlation.
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Explain how current price level is influenced by current and future money supply.
2EN HNEA [Feld a8 o wfdme el Qs aial 2ol o7 At

Why the aggregate supply curve vertical according to classicals?
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“With rational expectation neutrality of money always holds true™ — Explain.
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Answer any two questions from the following: 10%2 = 20
frfafie Q- qfb 2009 Ted wies
(i) Using sticky-price model, explain how can you derive a positively sloping 6+4

Aggregate Supply Curve.
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(i) How can you derive Phillips curve from Aggregate Supply Curve?
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What are the social costs of inflation? Discuss the costs of anticipated and 3+7
unanticipated inflation.
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Define Phillips curve. Show that short-run Phillips curve is downward sloping, 2+6+2
while the long run Phillips curve is vertical. Under what circumstance the short
run Phillips curve can also be vertical?
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What is ‘Natural Rate Hypothesis’? Justify the adoption of policies like fiscal and 4+6
monetary policy in the face of ‘Natural Rate Hypothesis’.
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N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within I hour after end
of exam. University / College authorities will not be held responsible for wrong submission
tat in proper address). Students are strongly advised not to submit multiple copies of the
NAEe answer seripl.
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